## FROM REDUCED RINGS TO DEDEKIND FINITE RINGS

In [5], Exercise 12.18, the following implications are stated:
reduced $\Rightarrow$ symmetric $\Rightarrow$ reversible $\Rightarrow 2$-primal.
There are another possible implications, one can add, instead of 2-primal:
reduced $\Rightarrow$ symmetric $\Rightarrow$ reversible $\Rightarrow$ semicommutative $\Rightarrow$ Abelian $\Rightarrow$ Dedekind finite.

Notice that all these implications are irreversible. For the first two, examples are given in T.Y. Lam Exercises in Classical Ring Theory (corresponding to the Exercise mentioned before).

For the next two examples are given in [3], and any matrix ring over a commutative ring is Dedekind finite but not Abelian.

Definitions. A ring $R$ is reduced if it has no nonzero nilpotents, symmetric if for $a, b, c \in R, a b c=0 \Rightarrow b a c=0$, reversible (see [2]) if for all $a, b \in R$ : $a b=0 \Longrightarrow b a=0$, semicommutative if for every $a \in R, r_{R}(a)$ is an ideal of $R$ (equivalently, $l_{R}(a)$ is an ideal of $R$ ), Abelian if its idempotents are central, and is Dedekind finite if one-sided invertible elements are two-sided (i.e., for all $a, b \in R: a b=1 \Longrightarrow b a=1$ ).

In order to have all (direct) proofs in one place we supply these here and add some others.

Lemma 1. (i) Reduced rings are reversible.
(i') Reduced rings are symmetric.
(ii) Symmetric rings are reversible.
(iii) Reversible rings are semicommutative.
(iv) Semicommutative rings are Abelian.
(v) Abelian rings are Dedekind finite.

Proof. (i) If $a b=0$ then $(b a)^{2}=b a b a=0$ and so $b a=0$.
(i') Suppose $a b c=0$. We also repeatedly use (i) in the (not trivial) proof (attributed to Andrunakievič, Ryabukhin; see [1]). It goes like this: $(a b) c=0 \Rightarrow$ $c a b=0 \Rightarrow c(a b a)=0 \Rightarrow a b a c=0 \Rightarrow(b a)(b a c)=0 \Rightarrow b a c b a=0 \Rightarrow(b a c)^{2}=0 \Rightarrow$ $b a c=0$.
(ii) In $a b c=0 \Rightarrow b a c=0$, just take $c=1$.
(iii) For any $a \in R, r_{R}(a)$ is clearly closed under addition and right multiplication. It only remains to show that $a x=0 \Rightarrow a b x=0$ for any $b \in R$. By reversibility, $x a=0$ and so $b x a=0$. Again by reversibility $a b x=0$.
(iv) (Shin). If $e^{2}=e$ then $e \bar{e}=\bar{e} e=0$ means that $\bar{e} \in r_{R}(e)$ and $e \in r_{R}(\bar{e})$. Since these are ideals, $e a(1-e)=0$ and $(1-e a) e=0$. Hence $e a=e a e=a e$.
(v) Suppose $a b=1$. Then $(b a)^{2}=b a$ is an idempotent, so central by hypothesis. Thus $b=(b a) b=b(b a)=b^{2} a$ and so $1=a b=a b^{2} a$.

Finally, $b a=\left(a b^{2} a\right) b a=\left(a b^{2}\right)(a b) a=a b^{2} a=1$.

Some other direct proofs.
Lemma 2. (i) Reduced rings are reversible.
(ii) Reduced rings are Abelian.
(ii) Reversible rings are Dedekind finite.

Proof. (i) If $a b=0$, for some $a, b \in R$, then $(b a)^{2}=b(a b) a=0$ and thus $b a=0$.
(ii) Let $e^{2}=e \in R$ and $x \in R$. Computation shows that $(e x-e x e)^{2}=(x e-$ $e x e)^{2}=0$. Hence $e x=e x e=x e$, i.e., $e$ is central.
(iii) Suppose that $a b=1$ for some $a, b \in R$. Then $(b a-1) b=b(a b)-b=0$ and thus $b(b a-1)=0$. So $b^{2} a=b$ and hence $a b^{2} a=a b=1$. It follows that $b a=\left(a b^{2} a\right) b a=\left(a b^{2}\right)(a b) a=a b^{2} a=1$. So $R$ is Dedekind finite.

From [2].
Lemma 3. A semprime reversible ring is reduced.
Proof. Suppose $t^{2}=0$. Then for every $x \in R, t^{2} x=0$ and by reversibility, $t x t=0$. Hence $t R t=(0)$ and by semiprime ([5] (10.9): An ideal $I$ is semiprime iff $a R a \subseteq I$ implies $a \in I), t=0$.
Theorem 4. In a reversible ring $N(R)$ is an ideal (i.e., is a so called NI ring).
Proof. Let $x^{r}=y^{s}=0$. Then $(x+y)^{r+s-1}$ is a sum of products of $x$ and $y$, each product consisting of $r+s-1$ factors. Each term has at least $r$ factors $x$ or at least $s$ factors $y$. Since commutation is possible using reversibility, all factors vanish and $x+y \in N(R)$.

If $x^{r}=0$ then $(b x c)^{r}$ has $r$ factors $x$ so vanish, for any $b, c \in R$. So $N(R)$ is a (two-sided) ideal.

## Examples of commutations:

1) Suppose $x^{2}=y^{3}=0$. Then $(x+y)^{4}=\left(x^{2}+y x+x y+y^{2}\right)^{2}=$
$=x^{4}+y x^{3}+x y x^{2}+y^{2} x^{2}+x^{2} y x+\underline{y x y x}+\underline{x y^{2} x}+y^{3} x+\ldots$
Now $x^{2}=0 \Rightarrow x^{2} y=0 \stackrel{\text { rev }}{\Rightarrow} x y x=0$ and $x^{2} y^{2}=0 \stackrel{\text { rev }}{\Rightarrow} x y^{2} x=0$. And another eight products.
2) Suppose $x^{3}=0$. Then $c b x^{3}=0 \stackrel{\text { rev }}{\Rightarrow} x c b x^{2}=0 \Rightarrow b x c b x^{2}=0 \Rightarrow c b x c b x^{2}=$ $0 \stackrel{\text { rev }}{\Rightarrow} x c b x c b x=0$ and so $(b x c)^{3}=b \underline{x c b x c b x} c=0$.

## References

[1] V. A. Andrunakievič, Ju. Rjabuhin Rings without nilpotent elements an completely simple ideals. Soviet. Math (Doklady) 9 (1968), 565-568.
[2] P. M. Cohn Reversible rings. Bull. London Math. Soc. 31 (6) (1999), 641-648.
[3] N. K. Kim, Y. Lee Extensions of reversible rings. J. of Pure and Appl. Algebra 185 (2003), 207-223.
[4] J. Krempa, D. Niewieczerzal Rings in which annihilators are ideals and their application to semigroup rings. Bull. Acad. Polon. Sci. Ser. Sci., Math. Astronom, Phys. 25 (1977), 851-856.
[5] T. Y. Lam A first course in noncommutative rings. Graduate Texts in Mathematics, vol. 131, Second Edition, Springer Verlag, 2001.
[6] G. Marks Reversible and symmetric rings. Journal of Pure and Applied Algebra 174 (2002), 311-318.
[7] G. Shin Prime ideals and sheaf representation of a pseudo symmetric rings. Trans. Amer. Math. Soc. 184 (1973), 43-60.

